KOC UNIVERSITY

MATH 101 - FINITE MATHEMATICS
Exam 1 November 3, 2008

Duration of Exam: 75 minutes

INSTRUCTIONS: CALCULATORS ARE NOT ALLOWED FOR THIS EXAM.
No books, no notes, no questions and no talking allowed. You must always explain your
answers and show your work to receive full credit. Use the back of these pages if nec-
essary. Print (use CAPITAL LETTERS) and sign your name, and indicate your
section below.

Surname, Name: H }\)SUJEQ Kg 5 S

Signature:

Section (Check One):

Section 1: S. Kiiglik¢if¢i (Tue-Thu 11:00) —
Section 2: S. Kiigiik¢if¢i (Tue-Thu 14:00) —
Section 3: B. Cogkuniizer (Mon-Wed 9:30) —
Section 4: B. Cogkuniizer (Mon-Wed 11:00) e
Section 5: B. Ozbager (Tue-Thu 11:00) —

[PROBLEM | POINTS | SCORE

1 15 iy
2 15
3 20
4 15
5 15
6 20

TOTAL 100




1. (15 points) A jazz concert brought in $33000 on the sale of 1600 tickets. If the tickets
sold for $15 and $25 each, how many of each type of ticket were sold?
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2. (15 points) (a) Find the slope of the line passing through the points (2,5) and (—1,6).
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(b) Write an equation of the line in part (a).
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(c) Find the intercepts and draw the line in part (a).
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3. (20 points) Consider the function f(z) = —z°% + 2z — =.

(a) Find the vertex.
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(b) Find the line of symmetry (axis of symmetry).
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(c) Find a-intercept(s). 2
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(d) Sketch a graph of f. 5 ¥a: 2
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(e) Find the range of f.
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4. (15 points) Answer the following questions.
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(a) Solve the equati(in Sl TR for z.
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(b) Solve the equation In(3 — 2z) + 4 = 0 for .
9&(1—2")*‘“0
L\k’l-gx) i

1dx - Q'L‘

2,0_—“ : x
_ _%_;Ei. HINUT 3150
2/ 32->><

(c) Solve the equation log, z — log, 2 = log, 3 — log, (z + 5) for .
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5. (15 points) Find tan i
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6. (20 points) (a) Find cos(sin'l(%g)).
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(b) tan 6 = 2, where 6 € [r, 32|, find sin 6 and cos¥.
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